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PART A: Grammar and Vocabulary .
T Understanding
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each tence. Then mark the answer People
on your answer sheet. (Grammar .
Pronunciation)
121- These days, plenty of researchers are trying to protect endangered \ oo
languages, and this can save ... information and cultural values of people all VS 5 YA o
around the world.

1) a few 2) a little 3) many 4) lots of
122- Yesterday, my father and I decided to buy the newest iPhone, 15 pro, for me, but we couldn’t
buy it because it was too expensive. It was ... .
1) seven hundred and ninety nine dollar 2) seven hundreds and ninety-nine dollar
3) seven hundred and ninety-nine dollars 4) seven hundreds and ninety nine dollars
123- Today after his English class, my close friend, Jack, talked with our English teacher about the
future and the teacher gave him some advice. I hope that my noble friend takes ... .
1) that piece of advices 2) those pieces of advice
3) that pieces of advice 4) those piece of advice
124- To see how your language skills are improving, you need to ... changes in your vocabulary and
fluency over time.
1) measure 2) protect 3) communicate 4) complete
125- I asked the man about the picture and he said he wanted one thousand dollars because it had
historical ... .
1) mind 2) culture 3) language 4) value
126- The lost man asked for help from the ... hunters and fishermen who lived less than thirty
kilometers away.
1) foreign 2) native 3) amazing 4) specific
PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Learning a new language takes time and dedication. In the beginning, it is useful to be exposed to
the language regularly through reading, listening, writing, and speaking. Reading children’s books,
watching TV shows, writing a journal, and having simple conversations with native speakers are
good starter activities. These give learners a feel for the patterns and rhythms of the new language.

As learners gain basic proficiency, watching movies, listening to the news, and surfing the internet
become helpful. These expose learners to more complex vocabulary and language structures. Talking
to native speakers is also important at this stage. Learners should try to communicate as much as
possible and not be afraid of making mistakes, as mistakes are part of the learning process.

Over time, with continued practice and exposure, fluency develops. Fluency comes from lots of
listening and speaking. Joining language classes, exchange programs and travel to countries where
the language is spoken will greatly accelerate learning. With persistence and dedication, anyone can
become proficient in a foreign language. The reward is the ability to communicate with more
people around the world.

127- What is the topic of the passage?

1) Effective language learning strategies

2) The history of language learning

3) Famous language teachers and their achievements

4) How to become a professional language teacher
128- How can learners achieve fluency in a foreign language, according to the passage?

1) Through occasional practice with native speakers  2) Only by attending language classes

3) By joining exchange programs and traveling 4) Fluency comes naturally with basic proficiency.
129- The underlined word “proficiency” in paragraph 2 refers to which of the following options?
1) skill 2) experience 3) dictionary 4) percent
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130- According to the passage, which activity is NOT recommended for learners trying to gain basic
proficiency in a new language?
1) Watching TV shows
2) Reading children’s books
3) Writing a journal in the new language
4) Traveling to countries where many languages are spoken

il oo igei cud g i |

PART C: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.

131- In the sea, there are ... of fish, each one with its own unique colors and patterns that make them special.

1) two millions of different types 2) millions of different types
3) two million of different types 4) millions of different type
132- How ... do you think it will take to complete the project, considering the available resources and
any possible challenges?

1) many of times 2) some of the times 3) much time 4) little time
133- My mom and I baked a cake yesterday, and we used ... to make the cake extra creamy and delicious.
1) three bottles milk 2) three milks bottles 3) three milk of bottles 4) three bottles of milk

134- In order to succeed in this project, we must all understand and agree on this important ... that
quality is more important than quantity.
1) point 2) history 3) candle 4) price
135- Using a language ... can change the intended meaning and prevent successful communication, so
it’s important to take the time to learn it correctly.

1) wrongly 2) carefully 3) fortunately 4) probably
136- The cost of mobile phones can ... greatly based on the brand, model, and features they offer.
1) exist 2) disappear 3) vary 4) order

PART D: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

The world’s population is growing really fast. Currently, there are over 7.8 billion people on the
planet, and this number is expected to reach 9.7 billion by 2050. The majority of this growth is
happening in developing countries in Africa and Asia. In fact, it is estimated that by 2100, Africa
alone will be home to more than 4 billion people.

This rapid population growth has big effects on our planet. It puts pressure on resources such as
food, water, and energy, and makes problems such as pollution and climate change worse. It also
creates challenges for governments and societies, because they need to provide basic things such as
schools, hospitals, and homes to a growing population.

Despite these difficulties, there are also opportunities that come with a growing population. We
have more people to work and come up with new ideas. And when we have lots of different people,
we can learn more from each other and make the world a better place.

137- Which of the following is TRUE, according to the passage?

1) The world’s population is decreasing fast.

2) Most of the population growth is happening in Africa and Asia.

3) The rapid population growth has no effect on our planet.

4) A growing population does not bring any opportunities.

138- How many more people are expected to be living in the world in about 30 years?

1) 7.8 billion 2) 1.9 billion 3) 3 billion 4) 9.7 billion

139- What is one of the challenges that comes with a growing population?
1) More money and new inventions 2) New ideas and ways of looking at things
3) Better schools, hospitals, and homes 4) Not having enough resources

140- What is the main idea of paragraph 3?
1) A growing population makes it harder to find enough food.
2) Many more people are being born in Africa and Asia.
3) Despite being hard, having more people can help us.
4) Problems like pollution and climate change will be worse by 2050.
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